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1. It is mandatory to fill one option for each question.

2. All questions carry equal marks.

3. Only one answer is to be given for each question. If more than
one answers are marked, it would be treated as wrong answer.

4, The OMR Answer Sheet is inside this Question Booklet.
When you are directed to open the Question Booklet, take out
the Answer Sheet and fill in the particulars carefully with Blue |
Ball Point Pen only.

5.  Please correctly fill your Roll Number in OMR Answer Sheet.
Candidates will themselves be responsible for filling wrong
Roll No.

6. Use of Correction Pen/Whitener in the OMR Answer
Sheet is strictly forbidden.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question.

8.  Each question has five options marked as 1, 2, 3, 4, 5. You
have to darken only ome circle (bubble) indicating the
correct answer on the Answer Sheet using BLUE BALL
POINT PEN.

9. Ifyou are not attempting a question then you have to darken
the circle *5’. If none of the five circles is darkened, one third
(1/3) part of the marks of question shall be deducted.

10.* After solving question paper, candidate must ascertain
that he/she has darkened one of the circles (bubbles) for
each of the questions. Extra time of 10 minutes beyond
scheduled time, is provided for this.

11. A candidate who has not darkened any of the five circles in
more than 10% questions shall be disqualified.

12. If there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Versions of the
question, the English Version will be treated as standard.

13. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will
be strictly dealt with as per rules.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.LR. would be lodged against

him/her in the Police Station and he/she would be liable to be prosecuted
under Rajasthan Public Examination (Measures for Prevention of

Unfair means in Recruitment) Act, 2022 & any other laws
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also debar him/her permanently from all future examinations.
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Which statement is incorrect for

Malaria ?

(1) Malignant malaria caused by
Plasmodium falciparum is the
most serious one and even be
fatal.

(2) Infectious form of
plasmodium is gametocyte
which enters in body of
healthy person through the
bite of infected female
Anopheles mosquito.

(3) Haemozoin, which releases
from ruptured RBCs is
responsible for the chill and
high fever recurring every
three to four days.

(4) Plasmodium completes its
asexual cycle in human and
sexual cycle in mosquito.

(6) Question not attempted

Assertion (A) DDT causes
decline in bird populations.

Reason (R) : High concentration of
DDT disturbs calcium
metabolism in birds, which
causes thinning of egg shell
and their premature breaking.

(1) Assertion and Reason both
are true and Reason is correct
explanation of Assertion.

(2) Assertion and Reason both are
true, but Reason is not correct
explanation of Assertion.

(8) Assertion is true and Reason
is wrong.

(4) Assertion and Reason both
are wrong.

(5) Question not attempted

Transplantation of tissue/organs to

certain patient often fail due to

rejection of the tissue/organs by

the patient. Which type of immune

response is responsible for such

rejection ?

(1) Auto-immune response

(2) Humoral immune response

(3) Innate immune response

(4) Cell-mediated immune
response - -

(5) Question not attempted
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§

Which of the following statement

best explains commensalism ?

(1) One organism is benefitted,
other is not affected.

(2) One organism is benefitted,
other is harmed.

(3) Both the organisms
benefitted.

(4) One organism is harmed and
other is not affected.

(5) Question not attempted

Which of the following is not an

aim of Kyoto protocol ?

(1) Reduce persistent
pollutants

(2) Combat global warming

(8) Control of CO, emission

(4) Reduction of use of CFC
(6) Question not attempted

are

organic

Select the correct statement with
reference to the Biological Oxygen
Demand (BOD) in a river water :
(1) Gives a direct measure of
Salmonella in water.

(2) Has no relationship with
concentration of oxygen in
water.

(3) Increases when sewage gets
mixed with water.

(4) Remains unchanged when
algae bloom occurs.

"~ (5) Question not attempted

The Environmental Protection Act
(to protect and improve the quality
of environment, air, water and soil)
was passed by government of India
in which year ?

(1) 1971 (2) 1974

(3) 1981 (4) 1986

(5) Question not attempted

Under unfavourable conditions
many zooplankton species in lakes
and ponds enter in a suspended
stage, which is known as

(1) Diapause (2) Aestivation
(3) Hibernation (4) Migration
(5) Question not attempted



9.

10.

11.

e - I : T TR & @fe O 99
AT T HTEA HT HUSR gt H
99 () | IR ST R |

HYF — I : TEE 5 & BICHRA el
%1 WUER IIgHvEH o fRra 8 |

(1) I HFATHE |

)

(3)

4

(5)

FH - [TAd e dHAT -1 TR R |
HI ST AT ¢ |

STNG I9H

3 R T A R B A |

fererea &1 w3 Hifdre

U - 1 : TP TH SHARUSE ® I
I a1 RS | e saT ® |

FY — I1 : GhiT | b T el &
e B(1 —> 4) T YT A@I2 |

(1) FH-[aHHE -1 TTE |

(2 #F - 187 8, fobg wem — 11
EAE |

(3) wUT -1 38 B, foog o — 11
TAR |

(4) HFH—1aAFHY - I 1 A& |

(5) geRa we

FY - 1 : IR wiope (qmnre) s
TRl wnfs & suer 5w
Y T B T@dl § at S % U™
FEIGEREREC A R e A r &

FA - I1 : Sfia s &9 & vidga e
¥ 3fre SRR (3TEE) & 6
3R S HHa & a1 Soke W
T 8 W GH: SIS IR |

(1) eFiHYTTRE |

2 wHHA-IvfigapuT—IITea R |
(B FW-_ITodeTHUT—IITER |
(4) QAN FFTACE |

(5) IgaiE T

FUT - [T BT HeA — [[TTeia 2 | |

Tt it i T WSS TR A= T T— T i—n i

10.

11.

Statement-I : The reservoir for
gaseous type of Nutrient cycle
— nitrogen and carbon exists
in the earth’s crust.
Statement-II : The reservoir for
phosphorus of sedimentary
cycle located in atmosphere.
Both statements are correct.
Statement — I is correct and
Statement — II is incorrect.
Statement — I is incorrect and
Statement — II is correct.
Both statements
incorrect.
Question not attempted

(1)
(2)

3)
@
®)

Consider the following statements
and choose the correct option :
Statement-I Sucrose is a

disaccharide which is composed

of glucose and fructose.
Statement-II : In sucrose, the
linkage between glucose and
fructose is p(1 — 4) linkage.
Both Statements — I and II
are true.

are

(1)

(2) Statement-I is true, but
Statement-II is false.
(8) Statement-I is false, but

Statement-II is true.

Both Statements-I and II are
false.

Question not attempted

Statement-I If the stressful
external conditions are
localised or remain only for a
short duration, the organism
has two alternatives like
migration and suspension.

Statement-II : The organism can

move away temporarily from

the stressful habitat to a more
hospitable area and return
when stressful period is over.

Both statements are correct.

Statement — I is correct and

Statement — II is incorrect.

4
®)

(1)
@)

(3) Statement — I is incorrect and
Statement — II is correct.

(4) Both statements are
incorrect.

(5) Question not attempted
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12.

13.

14.

Consider the following statements
and choose the correct option using
the codes given :

A. The endomembrane system
includes chloroplast,
mitochondria and peroxisomes.

B. Rough endoplasmic reticulum
is actively involved in protein
synthesis.

C. Smooth endoplasmic reticulum
is the major site for synthesis
of lipids.

D. The ribosome of a polysome
translate the m-RNA into

proteins.
@A B&C - (2 B&C
@y B C&D (d) ABC&D
(5) Question not attempted

Which of the following combmatlon
is mismatched ? :

ey
@)

may be capsule
or slime layer
surface
structures for
respiration
non-membranous
cell organelle
which helps in
cell-division
special structure
formed by
plasma
membrane of
bacteria

(6) Question not attempted

Glycocalyx -

Pili and -
fimbrae

Centrioles -

3)

Mesosome —

4

The following are the functions of
Endoplasmic Reticulum :

I. Lipid synthesis

II. Steroid synthesis

III. Protein synthesis

IV. Detoxification

V. Glycogenolysis

Choose the correct functions
related to smooth endoplasmic
reticulum :

L II, ITT & V only

I,II,IV & V only

I,1I & V only

I, IT & IV only

Question not attempted
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16.

Match the terms given in Column-I

with their explanation given in

Column-IT and choose the correct

option given below :

Column-I Column-II
(Terms) (Explanation)
A. Terminalization i. Pairing of
homologous
- chromosomes
B. Synapsis ii. Point of
attachment
between
homologous
chromosomes
after crossing-
over

C. Chiasmata iii. Nuclear

protein
complex that
helps in
attachment of
homologous
chromosomes

D. Synaptonemal iv. Shifting of

complex chiasmata
outwards
toward the
ends of a
bivalent
A B i@ D

) aveay i

@riegtgll Ay ol

(Blsrliesiy. il i

(4) v e imeiin

(5) Question not attempted

Consider the following statements

and choose the correct statement :

A. Inulin is a polymer of fructose.

B. Ribozymes are nucleic acids
with catalytic power.

C. Proteins are always the
homopolymers made of amino
acids.

D. In a polysaccharide, the
monosaccharides are linked
by phosphodiester bond.

E. Collagen is the  most
abundant protein in the whole
of biosphere.

(1) AAB&D (2 CD&E

@) B&C 4 A&B

(5) Question not attempted
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17. Consider

the statements given

below and choose the correct option :

Statement-I : The cisternae of
Golgi complex is a polarized
structure having Cis and
trans faces.

Statement-II : The Cis face is
forming face and trans face is
maturing face.

(1) Both Statements-I and II are
true.

(2) Statement-I 1is true, but
Statement-II is false.
(8) Statement-I is false, but

Statement-II is true.

(4) Both Statements-I and II are
false.

(5) Question not attempted

Match the description given in
Column-I with correct stage of cell-
division given in Column-II and
choose the correct option :

Column-I Column-II
A. Pairing between i. Pachytene
homologous
chromosomes
B. Crossing-over 1. Zygotene

between non-
sister chromatids
of homologous
chromosomes

C. Centromere splits iii. Metaphase
and chromatids
aparts '

D. Chromosomes
move towards
spindle-equator

A iBGaD

(IRters =y din S0y

(2)itiss 1 1 il

B)-iore =il ol i

(Aiadit ey ol

(5) Question not attempted

iv. Anaphase
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19. Which of the following group of

20.

21.

22.

plant is being described by the

given statements ?

I.  The plant body is thalloid.

II. Asexual reproduction takes
place by fragmentation of
thalli, or by the formation of
specialized structures called
Gemmae.

III. The sporophyte is
differentiated into a foot, seta
and capsule.

IV. They grow usually in moist
and shady habitats.

(1) Liverworts (2) Moss

(3) Fern (4) Gymnosperm

(5) Question not attempted

Which of the following are related
to inflorescence of Graminae ?

(1) Lodicules, caruncle, spathe

(2) Lemma, tepal, aril

(3) Palea, herko, nectar gland

(4) Lodicules, lemma, palea

(5) Question not attempted

Select the characteristic features of
phylum Ctenophora and choose the
correct option :

I. Found in fresh water

II. Biradial symmetrical

ITI. Presence of Nematocysts

IV. Presence of Comb plates

V. All are Monoecious

Uaad, H &G I - (2) 11, HE- &IV
@ LIII&V @ ILIV&V
(5) Question not attempted

Major photosynthetic pigments in

brown algae are

(1) Chlorophyll a, b and
fucoxanthin

(2) Chlorophyll a, ¢and
fucoxanthin '

(3) Chlorophyll a, d and
fucoxanthin

(4) Chlorophyll a, e and
phycoerythrin

(56) Question not attempted
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23.

24.

o
X

Match Column-I with Column-II
and choose the correct answer
using the codes given below :

Column-I Column-II
A. Acoelomata i. Ascaris
B. Pseudocoelomata ii. Pila
C. Lophophorate 1i. Fasciola
coelomata
D. Schizocoelous iv. Lingula
coelomata
Codes :
i, L SRR G b
(1) adbs ams ik v
(ARSI e
(B):an ul Ay
()% 31 oo 4
(5) Question not attempted
Match the animal group in

Column-I with their features in
Column-II and give the correct
answer from options given below :

Column-I Column-II
(Animal group) (Features)
A. Aves i. Cartilagenous
Endoskeleton

B. Cyclostomata ii. Three
chambered
heart

C. Amphibia 1ii. Pneumatic
bones

D. Elasmobranchi iv.Jawless
vertebrates

A =B Ce O STy

(D) vy ol 1

(2) PR e R iy

(3) iv e ]

(4) m v 1

(6) Question not attempted

Statement-I : All vertebrates are
chordates but all chordates
are not vertebrates.

Statement-II : The notochord is
replaced by a bony or
cartilaginous vertebral-column
in the vertebrates only.

(1) Both Statements are correct.
(2) Statement-I is correct and
Statement-II is incorrect.

(3) Statement-I is incorrect and
Statement-II is correct.

(4) Both statements are incorrect.

(56) Question not attempted
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26.

27.

28.

Match Column-I with Column-II
and choose the correct option :

Column-I Column-II

A. Contractile i. Pheretima
vacuole

B. Metagenesis  ii. Ascaris

C. Sexual iii. Amoeba
dimorphism

D. Protonephridia iv. Obelia

E. Metamerism v. Taenia
AL B Caii-Blac K

()i nily - AviAy

@) icaiv Ty

(8) 11 =dv ) 1 v

(4) > nlsavel 1t —eay 1

(5) Question not attempted

Sinus venosus in frog is formed by
the union of

(1)
@)
3
(4)
(5)

Which of the following is the
incorrect statement about
integumentary nephridia of
Pheretima is

(1) There are 200-250 nephridia
in each segment except in
clitellum.

They are V-like in shape.
They are enteronephric.
They have nephridiopores.
Question not attempted

1 precaval and 1 post caval

1 precaval and 2 post cavals
2 precavals and 1 post caval
2 precavals and 2 post cavals
Question not attempted

(2)
(3)
(4)
(5)
When Amoeba engulfs an active
prey like a flagellate or ciliate, this
method of ingestion is known as

(1) Import

(2) Circumfluence

(8) Circumvallation

(4) Pinocytosis

(5) Question not attempted
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(1)
3)

(5)
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30.

31.

32‘

Which of the following statement is
incorrect about cockroach (periplaneta) ?
(1) A mushroom shaped gland
is present in the 6th-Tth
abdominal segments of male
cockroach.
They exhibit mosaic-vision
with less sensitivity and more
resolution.
Female cockroach possesses
eight ovarioles in each ovary.
(4) Alary muscles are associated
with blood circulation.
(6) Question not attempted

Match the Column-I with Column-

II and choose the option which
shows its correct combination :

(2)

3)

Column-I Column-II
(Pattern of (Plant group)
Life Cycle)

A. Haplontic life i. Pteridophytes
cycle & bryophytes

B. Diplontic life  ii. Gymnosperm
cycle & Angiosperm

C. Haplo- iii. Many green
diplontic life algae & some
cycle species of

Chlamydomonas
A B0

M) 1o

(2) .1 oaiiiel

(3): a2 Jiare g

(4)yeine, 91501

(5) Question not attempted

Select the correct statement 1n

reference to Ascaris : |

I. Infections occurs through
contaminated food and water
with embryonated eggs.

II. Metagenesis of asexual polyp
and sexual medusa forms are
found.

III. Hermaphrodite, bilaterally-
symmetrical, eucoelomate
triploblastic with metameric
segmentation.

IV. Monogenetic endoparasite of
human small intestine.

1) I&IV 2 LII&III

@B) II&III (4 ILINL&IV

(5) Question not attempted
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33.

34.

35.

13-celled male gametophyte of

Selaginella has

(1) 7 cells of antheridium + 6
prothallial cells

(2) 8 cells of antheridium + 5
prothallial cells

(38) 11 cells of antheridium + 2
prothallial cells

(4) 12 cells of antheridium +1
prothallial cell

(56) Question not attempted

Which of the following group of
plant is being described by the
given statements ?

I. They are heterosporous and
produce haploid microspore
and megaspores.

II. The roots are generally tap

roots.

ITI. Ovules are not enclosed by
ovarywall and remain
exposed before and after
fertilization.

IV. The giant redwood tree

Sequoia is one of the tallest
tree species of the group.
(1) Algae (2) Gymnosperm
(3) Bryophytes (4) Pteridophytes
(56) Question not attempted

The following statements are
associated with one of the class of
Algae. Identify the class of algae :

I.  Asexual reproduction is by
flagellated Zoospores
produced in zoosporangia.

II. They have rigid cell wall
made up of inner layer of
cellulose and outer layer of
pectose.

ITI. Storage bodies pyrenoid
located in the chloroplast are
present in members of this
class.

IV. Spirogyra, chara,
chlamydomonas and volvox
are members of this class.

(1) Xanthophyceae

(2) Phaeophyceae

(3) Rhodophyceae

(4) Chlorophyceae

(5) Question not attempted
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36.

37.

38.

39.

At the time of pollination, how
many cells are present in the male
gametophyte of Ephedra ?

(1) Five (2) Seven

(3) Three (4) Four

(6) Question not attempted

Which of the following 'barrier is

reduced in endotheliochorial

placenta in between foetal and

maternal blood ?

(1) Endothelial wall of maternal
blood vessel

(2) Endothelium wall of foetal
blood vessels

(8) Uterine epithelium

(4) Chorionic epithelium

(5) Question not attempted

The pattern of embryonic cleavage

specific to a species is determined

by two major parameters :

Statement-A : The factors in the
egg cytoplasm that influence
the angle of mitotic spindles
and timing of its formation.

Statement-B : The amount and
distribution of yolk protein in
the cytoplasm.

Which of the following statement is

correct on the basis of above

statements ?

(1) Species having isolecithal egg
follow a meroblastic cleavage.

(2) Species having centrolecithal

egg follow a holoblastic

cleavage.

Species having isolecithal egg

follow a equal holoblastic

cleavage.

Species having telolecithal

egg follow an equal

holoblastic cleavage.

Question not attempted

3)

(4)

®)

In Pteridophytes sporangia bearing
leaves are known as

(1) Sporophyll (2) Indusium
(3) Sorus (4) Ramentum
(5) Question not attempted
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40.

41.

42.

During Parturition

(1)
2
3

4)

)

Estrogen decreases,
progesterone increases.

Both estrogen and
progesterone increase.

Both estrogen and
progesterone decrease.
Estrogen increases,

progesterone decreases.
Question not attempted

Which of the following statements
regarding limb regeneration in
salamander is correct ? '

(1)

(2)

©)

Proliferation of the blastema
cells does not require nerves
or factors secreted by the
nerves.

Regeneration occurs through
formation of a blastema which
essentially consists of
unspecified multipotential
progenitor cells.

It occurs by compensatory
regeneration and does not
include formation of an apical
ectodermal cap.

(4) Regeneration occurs through,
phase of wound healing —
blastema formation —
Differentiation = phase —
Redifferentiation and
morphogenesis

(6) Question not attempted

In primates, the type of placenta

found is

(1) Haemoendothelial

(2) Endotheliochoral

(3) Haemochorial

(4) Syndesmochorial

(5) Question not attempted
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43.

44,

45.

46.

The inward migration of which of

the following cells takes place

during emboly ?

(1) Chorda-mesodermal cells and
Epidermal cells

(2) Endodermal cells and Chorda
mesodermal cells

(3) Epidermal cells
Endodermal cells

(4) Endodermal and Mesodermal
cells

(6) Question not attempted

Geitonogamy involves

(1) Fertilization of a flower by the

pollen from a flower of

another plant belonging to a

distant population.

Fertilization of a flower by the

pollen from another flower of

same plant.

Fertilization of a flower by the

pollen from the same flower.

Fertilization of a flower by the

pollen from a flower of

another plant in the same

population.
Question not attempted

and

)

3
4)

)

Apomixis is the

(1) Formation of seeds without
fertilization

(2) Effect of low temperature on
plant reproduction

(8) Inability to perceive stimulus

4)

()

for flowering

Formation of seedless fruits
without fertilization
Question not attempted

Which pair is incorrectly matched ?

(1) Meroblastic superficial
cleavage — Cockroach

(2) Holoblastic unequal cleavage
— Frog

(8) Meroblastic discoidal cleavage
— Bird

(4) Holoblastic equal cleavage —
Salamander

(5) Question not attempted
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47. Match Column-I with Column-II

and choose the correct option from
the codes given below :

Column-I Column-II
A. Monosporic 8 i. Oenothera
nuclei embryo type
sac
B. Biosporic ii. Allium type
embryo sac
C. Tetrasporic iii. Polygonium
embryo sac type
D. Monosporic 4 iv. Adoxa type
nuclei embryo
sac
Codes:
At B Gl
(1) = dilcos i e o aiy
@3RI 2 ¥ oan

()1 e i
(M) iy il s lia il
(5) Question not attempted

‘Ubish bodies’
development of which
following ?

(1) Embryo

(2) Embryo sac

(83) Endosperm

(4) Pollen grains

(5) Question not attempted

are involved in
of the

Statement-I : In plants the term
vegetative reproduction 1is
generally used for asexual
reproduction.

Statement-II Since  the
formation of vegetative
propagules does not involve
two parents, the process is
asexual.

(1) Both statements are correct.

(2) Statement-I is correct and
Statement-II is not correct.

(3) Statement-I is incorrect and
Statement-II is correct.

(4) Both statements are
incorrect.

(5) Question not attempted
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territory by scent like substances
produced by the glands which are
situated

(1) below eyes

(2) on the neck

(3) in anal region

(4) between hind toes

(5) Question not attempted

Which of the following phrase best
describes an instinctive behaviour ?

(1) Generally learned, flexible
and cumulative
(2) Typically innate and

relatively inflexible

Usually performed incorrectly
for the first time ‘

1t includes  habituation,
imprinting and fixed action
pattern

(5) Question not attempted

Match the animals given in
Column-I with their behaviour in
Column-II and choose correct
answer from the codes given below :

3
4

Column-I Column-II
(Animals) (Behaviour)
A. Stickleback i. Flagging
B. Wolf spider 1. Rasping
sound
C. Bees iii. Red colour
belly
D. Spiny lobsters iv. Nuptial flight
A B G
(L) A Tatav
e i e iy
(8) Favariaireiils ¥l
()71 1 iVl

(5) Question not attempted

If the number of chromosomes in
the root tip of a maize plant is 36,
what would be their number in its
endosperm ?

(1) 36 (2)- 54
(3)-- 72 (4) 108
(5) Question not attempted
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54. The peacocks start dancing during
breeding season on seeing peahen.

55.

56.

This is an example of

(1)
2
3
@
(5)

Habituation

Operant conditioning
Imprinting

Fixed action pattern

Question not attempted

Select the incorrect statement :

(1)

(2)

3

4

®)

Fixed action patterns are
instinctive behaviour which
are stereotyped, need sign

stimulus for release and
resistant to phylogenetic
changes.

Lorenz proposed psycho-
hydraulic model to explain
correlation between  sign
stimulus, innate releasing
mechanism, action specific

energy and fixed action pattern

Learning may be flexible like
habituation or restricted like
imprinting.

Neurosensory mechanism
which exhibits behaviour in
response to sign stimulus is
called as imprinting.

Question not attempted

In Ivan Pavlov’s well-established

experiments

regarding classical

conditioning, the food is regarded

as
(1)
2
3
@
®)

Conditioned stimulus
Unconditioned stimulus
Sign stimulus
Supernormal stimulus
Question not attempted
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57.

58.

59.

60.
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)

3)

(4)

57.

58.

59.

There are 60 individuals in a
population and they have same
hemoglobin level that is 14 g/dL.
As there is no variability, the
standard deviation will be

(1 0,1

(2. +2

3y 1,-1

(40

(5) ~ Question not attempted

Find out the incorrect statement

about standard deviation.

(1) It is a measure of studying
dispersion.

(2) It is defined as the square root

of the arithmetic mean of the

squares of the deviations from

the Arithmetic mean.

3y It helps in calculating

standard error and finding

the suitable size of sample for

valid conclusions.

It cannot be used to calculate

standard error.

Question not attempted

(4)
(6)

In a class, 20% students have blood

group A, 40% students have blood

group B, 30% students have blood

group AB and 10% students have

blood group O, then what will be

the angle of blood group AB in pie

diagram ?

(1) 72° (seventy-two degree)

(2) 144° (one hundred forty-four
degree)

(3) 108° (one hundred and eight
degree)

(4) 36° (thirty-six degree)

(5) Question not attempted

Which type of learning was

demonstrated by W. Kohler in

chimpanzees ?

(1) - Latent learning

(2) Classical learning

(3) Insight learning

(4) Trial and error learning
(5) Question not attempted



61.

62.

63.

64.
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61.

62.

63.

64.

Weight in (g) of 50 insects and
their frequency was recorded as :
Weight of insect| Frequency
21
22
23
24
25
26
27
28
29
30
Find out the mode of series.
(1), 27 (25225
3) 26 (4) 22
(5) Question not attempted

WO H O1L=-JW WOk D

Formula to calculate standard
deviation from ungrouped data
(individual series) is

3{2}(2 zX2
()7 S mere 2 a8= N S

Ede2 X2
3) S= 4 S= ~F
(5) Questlon not attempted
Example of one dimensional
diagram is

(1) Squares diagram

(2) Histogram

(3) Bar diagram

(4) Pie diagram

(5) Question not attempted

Find the incorrect statement w1th

reference to tabulation :

(1) A suitable heading /
subheading should be given.

(2) Columns and rows should be
numbered.

(83) Rows and columns need not to
be arranged in logical order.

(4) Explanatory notes should
always be given as footnotes.

(5) Question not attempted
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66.

67.
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65.

66.

67.

Choose the incorrect statement

from the following :

(1) Pyramid of energy is always
upright.

(2) The first trophic level is

always occupied by producers.

Interconnection of food chains

is called food web.

Gross primary productivity

means total rate of photo

assimilation.

Question not attempted

(3)
(4)

(5)

The type of association between
populations in which both are
benefitted but is not obligatory is
called as

(1) Amensalism

(2) Parasitism

(8) Protocooperation

(4) Commensilism

(6) Question not attempted

Which of the following statement is

incorrect regarding xerosere ?

A. The pioneer colonisers on the
bare area are always Foliose
Lichens.

B. Rhizocarpon, Lecidia
Cladonia all are
lichens.

C. Foliose lichen stage have
delicate leaf like, thalli which
cover the rocks and over-
shadow the  pre-existing
crustose lichen.

D. When the habitat is changed,
the existing lichen starts
disappearing and in that area
Xerophytic mosses grow and
become dominant.

and
crustose

1) A&B 2 ABC&D
3 B&C 4 A,B&D
(5) Question not attempted



68.

69.
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68. Assertion (A)

69.

Energy flow
through the trophic levels
from producer to subsequent
levels is unidirectional.

Reason (R) Energy level
decreases from the first
trophic level upwards due to

loss of energy in the form of -

heat at each trophic level.

(1) Both Assertion and Reason
are true and Reason is correct
explanation of Assertion.

(2) Both Assertion and Reason
are true but Reason is not

correct explanation of
Assertion.

(3) Assertion is true and Reason
is wrong.

(4) Assertion is wrong and
Reason is true.

(5) Question not attempted

Which of the following is/are

correct for Edge effect-edge spices ?

A. Edge effect refers to the
changes in population or
community structures that
occurs at the boundary of two
habitats (ecotone).

B. Sometimes the number of
species and the population
density of some of the species
in the ecotone is much greater
than either community. This
is called as edge effect.

(1) Both Aand B

(2) OnlyB

(3) Only A

(4) Neither A nor B

(5) Question not attempted
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70.

71.

Which of the following statement is

correct ?

(1) In a terrestrial ecosystem, a
much larger fraction of energy
flows through the grazing
food chain than through the
detritus food chain.

(2) Each trophic level has a
certain mass of living
material at a particular time
called as the “standing state”.

(3) The “standing crop” is
measured as the mass of
living organisms or the
number in a unit area.

(4) In an aquatic ecosystem,
detritus food chain is the
major conduit for energy flow.

(6) Question not attempted

The possible combinations of 0 (no
significant interactions) +
(benefited) and —(harmed) are
given below in Column-I and in
Column-II, the types of
interactions between two species
are mentioned.

Match the Column-I with Column-II
and choose the correct option by
using the codes given below :

Column-I Column-II
A +0 i. Predation
B.o+= ii. Competition
C. —- 11i. Commensalism
D. -0 iv. Amensalism

A Bo o)
(DEsi: oot i i
2) il

B)ent cofe i Uiy

@) dil o cdv: o
(5) Question not attempted
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74.
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72. With regard to Human insulin,
choose the correct option : :

73.

74.

A. C-peptide is not present in
mature insulin.

B. The insulin produced by
r-DNA technology has
C-peptide.

C. “The pro-insulin has C-peptide.

D. ¢A-peptide and B-peptide of
insulin are interconnected by
disulphide bonds.

(1) A& D only

(2) B & D only

(3) B & Conly

(4) A,C&Donly

(5) Question not attempted

Which' one " of the following

techniques is generally used to
produce transgenic animals ?

(1)

@)

3)

(4)

(6)

Desired DNA is microinjected
into fertilized eggs followed by
implantation of the embryo in
a foster mother.

Processed m-RNA containing
only exons are introduced into
the embryo.

Entire foreign nucleus is
introduced in the blastocyst
stage enucleated unfertilized
egg.

c-DNA of desired gene is
introduced  directly into
animal embryo and is
implanted in a foster mother.

Question not attempted

Who ainong the following was first
to culture anther to obtain haploid
embryo in Datura innoxia ?

(€Y
(2)
3)
(4)
®)

Skoog and Millar
Steward

Guha and Maheshwari
Vasil and Hilderbrand
Question not attempted
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75.

76.

77.

78.

Which of the following is not an
example of transgenic organism ?
(1) Glofish (2) Polly

(3) Dolly (4) Flavr Savr
(5) Question not attempted

Find out the incorrect statement
for RNA interference :

(1) It is a naturally occurring
cellular process to regulate
gene expression.

Sense and antisense RNA’s
being complementary to each
other forms double stranded
RNA.

RISC leads to gene-silencing
in RNA interference.

RNA interference technique is
used to develop Bt-cotton.

(5) Question not attempted

@)

3)
@

In nature, Restriction endonuclease
are present in

(1) Bacteriophage

(2) Bacteria

(38) Viruses

(4) All microorganisms

(®) Question not attempted

In gene therapy of Adenosine "
Deaminase (ADA) deficiency, the
patient require periodic infusion of
genetically engineered
lymphocytes because ’
(1) ADA producing genes isolated
from marrow cells are
introduced into embryonic
cells.

Genetically engineered
lymphocytes are not immortal.
Lymphocytes of the patient’s
blood mutates in the body.
Introduced Retroviral vector
inactivates the lymphocytes.
Question not attempted

(2)
3)
4
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80.

81.
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79.

80.

81.

Full form of HPLC is

(1) Highly Proficient
Chromatography

(2) High Performance
Chromatography

(3) High Performance
Chromatography

(4) Highly Productive
Chromatography

(5) Question not attempted

Liquid
Linear
Liquid

Liquid

Arrange the following steps about

ELISA (Enzyme Linked
Immunosorbent Assay) in
chronological order :

A. Incubate with anti-body

enzyme complex that binds
primary antibody.

B. Coat surface with antigen and
block unoccupied sites with
non-specific protein.

C. Add substrate, formation of
coloured product indicates
presence of specific antigen.

D. Incubate with primary
antibody against specific
antigen.

1 B->D->A->C
2 A->D->B->C
B8 A->D->C->B
49 B->D-C-oA
(5) Question not attempted

Which of the following law states
that the proportion of incident
radiation absorbed by a given
sample is independent of the
intensity of the incident radiation ?
(1) Fick’s law

(2) Lambert’s law

(3) Snell’s law

(4) Raman’s law

(5) Question not attempted
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83.

84.
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82.

83.

84.

Which of the following procedure is
used to separate organelles from
cells based on size and shape alone ?

(1) Differential centrifugation
(2) Rate-zonal centrifugation
(8) Isopycnic centrifugation

(4) Density gradient
centrifugation

(5) Question not attempted

What is the role of SDS in SDS-
PAGE ?

(1) Protein unfolding and
imparting net positive charge
to them.

(2) Protein denaturing and
imparting net negative charge
to them.

(3) Imparting equal mass to all
proteins. :

(4) Imparting equal mass with
net positive charge to
proteins.

(6) Question not attempted

In spectrophotometry, how is

absorbance related to

transmittance ?

(1) Absorption is a multiple of
transmittance.

(2) Absorbance is negative
logarithm of transmittance.

(3) Absorbance is positive
logarithm of transmittance.

(4) Transmittance is negative
logarithm of absorbance.

(5) Question not attempted
o
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86.

87.
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85.

86.

87.

Which of the following substance is
not used for staining in Electron
microscopy ?

(1)
()
3
(4)
®)

Osmium tetraoxide
Mercurous sulphate
Uranyl acetate
Lead citrate

Question not attempted

In phase contrast microscope, the
lateral plane of the objective is
advanced or retarded by

1)
(2)
3)
(4)
(®)

a quarter wavelength
half wavelength
two-third wavelength
three-fourth wavelength

Question not attempted

Which of the following type
of chromatography is used for
the analysis of organophosphorus
pesticides ? Choose the correct
answer using codes given below :

A. Paper chromatography

B. Gas-Liquid chromatography

"C. Column chromatography

D. Thin layer chromatography
Codes:

(1) only Big@

2 ABC&D

(3) OnlyB

(4) OnlyC

(5) Question not attempted
38




88. we-l % geweRiEl &1 w1l ¥ I

FHRIuTet & e
el -1
A won  fwfe i v it a6
qeEAeE ot Tl & &
UEIAT R |
B. 57 $ics ii. 3= fEas
st I T
3TRreran faoata
0.1 nm-d 9T
_ HFLTHA S |
C. TFafEH Seieei iii. IR &
qeHeH YA STTHIE
e
[ JTTAHH -
; =R HT ST
| D. St sedE v, Sfafewss fmin
| gemeEt =g T
' TARATE
FFEHCE ST
HIIFEAMTHA & |
AR ol
(1) il 1 i
(2)-:11 o uidll 1Y
(8) alle i ay 1
()= Hdy e O A i
(6) TG A
89. TAMNH AT HISHIEHIY % fowd |
TTTd Y 1 A I :

1 W%%ﬂmﬁ%@ﬁ%m%

Haiftres STFEf € |

(2)

gl g9 8 I T WY T B
% fore sergIeeh T gl SR

foror 1 iy fraT ST R |

@3)

Tl I Th TEH-THT % ¥4

i o aRest & @ T ST 2 |

(4)

i dfiedl ¥ wefia g IR

gerargTAT grT wfcifersy <t Ao BT 2 |

(5) 3TFRa I

38

|
|
|
|
|
|
|
|
|
|
|

29

88. Match the microscope in Group-I
with their working in Group-II :

89.

Group-I Group-II

A. Phase i. Light reaches
contrast the specimen
microscope only from the

sides

B. Dark field ii. Uses high
microscope vacuum and

can achieve
max of 0.1 nm
resolution

C. Transmission iii. Uses difference
electron in the
microscope refractive

index of cells
from their
surrounding
medium.

D. Scanning - iv. Make use of
electron secondary and
microscope backscattered

electrons for
image
formation
AraB G )

(Draiice o v

(2)- 1 o e 1 L

@ H iy

(4w 11 aE pR

(5) Question not attempted

Find out the incorrect statement

about Transmission  Electron

Microscope (TEM) :

(1) It is best suited to visualize
the arrangement of molecules.

@

The electron beam is focussed

by a Electromagnetic lenses
to simultaneously illuminate
the entire viewing field.

@3)

The electrons are accelerated

as a fine beam that scan the
specimen.

(4)

The image is formed by the

electrons that are reflected
back from the specimen.

®)

Question not attempted
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(5) IHgaia ¥

e e e e = . e o e e e i ot T s

(7]
o

90. Which of

91.

92.

the following
combinations would improve the
resolution of a microscope ?

A. Increasing the half aperture
angle of the objective lens.

B. Decreasing the wavelength of
the illumination source.

C. Decreasing the numerical
aperture of the objective lens.

D. Decreasing the refractive
index of immersion medium.

A&C
B&D
B&C
A&B

Question not attempted

(1)
(2)
3
4
®)

In which year India became a
party to CITES (Convention of
International Trade in Endangered
Species) ?

(1) 1971

(2) 1972

(3) 1976

(4) 1978

(5) Question not attempted

The resolving power of a lens can
be expressed as

0.06 A
(1) RP.= o
2) R.P.= M
n sin o
| 74|
3) R.P.= 2.7_._7\'_
n sin o
Size of retinal image
seen with instrument
4) RP.= Size of retinal image seen
with unaided normal eye
(5) Question not attempted
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93.

94.

95.

The number of Biodiversity

hotspots in India is

€~ 2

(2) 10

3) 4

4) 6 |

(5) Question not attempted

Match the name of sanctuaries
(given in List-I) to important wild
life (given in List-II) and select the
correct answer with the help of
codes given below : :

List-I List-II
A. Kaziranga i. Indian Lion
B. Gir ii. One-horned

rhino

C. Dachigam iii. Tiger
D. Ranthambore iv. Hangul
Codes:

A B LC

@) iy

B B O

(0 T e | |
(@) il Al v i
(4)-dv- i 1 i

(5) Question not attempted

Shergarh Wildlife
located at

(1) Bikaner

(2) dJodhpur

(3) Kota

(4) Baran

(5) Question not attempted

Sanctuary is
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96.

97.

98.

Spec1es confined to one specific
regmn and not found anywhere
else is known as

(1) Pandemic (2) Endemic
(3) Epidemic (4) Polydemic
(5) Question not attempted

Statement-I : Pyruvate after it
enters mitochondrial matrix
undergoes oxidative
decarboxylation by a complex
set of reactions catalyzed by
pyruvate dehydrogenase.

Statement-IT During this
process, 2 molecules of
NADPH are produced from
the metabolism of 2 molecules
of pyruvic acid.

(1) Both statements are true.

(2) Statement-I is true, but
Statement-II is false.
(3) Statement-I is false, but

Statement-II is true.
(4) Both statements are false.
(5) Question not attempted

Find out the incorrect statement :

(1) Botanical garden, wild life
safari park, zoological park,
seed banks and cryo-
preservation are methods of
Exsitu-conservation.

(2) Biodiversity hotspots are the
regions with very high level of
species richness and high
degree of endemism.

(8) There are 36 biodiversity
hotspots in the world.

-(4) Term ‘Biodiversity’ includes

only species diversity but the

genetic diversity and
ecosystem diversity are not
included.
(5) Question not attempted
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99.

100.

101.

Which of the following statements
regarding the characteristics of
teaching model is not correct ?

(1) Teaching model is some pre-
planned scheme for the
success of teaching learning
process.

They are constructed
fulfilled specific purposes.
They provide desirable
experiences to only students.
These are based on
philosophical principles and
psychological laws.

(6) Question not attempted

Syntax of inquiry training model
have following phases :

(2 to
(3)

4)

A. Encounter with the problem

B. Data gathering for
experimentation

C. Data gathering for
verification

D. Analysis of the inquiry
process

E. Formulating an explanation

Arrange in correct sequence from
the codes given below :

Codes:

(1) A-B-C-D-E

2 A-C-B-E-D

3 C—-A-B-D-E

4 B=C-A-E-D

(6) Question not attempted

Which “of the following type of
measures to overcome the barrier

to communication pair is not

correctly matched ?

(1) Psychological — Regular
feedback
process

(2) Background - Minimize
audible
distractions

(3) Physical — Ensure
audibility

(4) Language — Explain with
symbols and
graphics

(5) Question not attempted
o
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102.

103.

104.

105.

- ®

Which method of cooperative

learning attempts to combine the

form and dynamics of the

democratic process and the process

of educational inquiry into one

teaching strategy ?

(1) Group investigation method

(2) Learning together method

(3) Jigsaw

(4) Team assisted
individualization method

(5) Question not attempted

There are two statements about

the hardware in teaching learning :

A. Hardware are operated on
technical knowledge.

B. Motion pictures
example of hardware.

Which one of the following option

is correct ?

(1) A is correct but B is incorrect.

(2) Bis correct but A is incorrect.

(3) A and B both are correct.

(4) A and B both are incorrect.

(5) Question not attempted

are an

Which one of the following is not

required in software production for

educational programmes ?

(1) Knowledge of the content

(2) Understanding of engineering
science

(3) Production techniques

(4) Communication strategies

(6) Question not attempted

Three dimensional visual aids used
to exhibit and display the reality in
miniature form, is called

(1) Photograph (2) Poster

(8) Specimen (4) Diorma
Question not attempted
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106.

107.

Which of the following types of
technology involved in computer
assisted instruction ?

~A. Hardware

B. Software
C. Courseware

Select the correct answer using the
codes given below :

Codes :

1) A,B&C

(2) OnlyA&B

(8) Only A

(4) OnlyC

(5) Question not attempted

In which type of computer aided
instruction, computer interact with
individual students and do the
actual teaching like a teacher ?

(1)
@)
3
(4)

Educational game type
Tutorial type
Drill and practice type

Practical work oriented

instruction
Question not attempted

®)

108. A step of system approach in which

the current status of the system is
described, the system components
and constraints are identified, is
called

(1) System implementation

(2) System development

(8) System design

(4) System analysis

(5) Question not attempted
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109. Which of the following ‘suffix’ is

110.

111.

112.

used for the category of sub-family
in plant taxonomy ?

(1) —idae (2) -onae

(3) -—aceae (4) —oideae

(5) Question not attempted

The standard size of a herbarium
sheet is approximately

(1) 28.75x 41.25 cm

(2) 25.15 x 40.25 cm

(3) 28.75 x 35.25 cm

(4) 18.75x 41.25 cm

(5) Question not attempted

Which of the following statements

regarding Nomenclature is

incorrect ?

(1) Scientific name should be
printed in italics.

(2) Generic name always begins

with capital letter whereas

species name with small

letter.

Scientific name when typed or

handwritten should be

underlined.

Tautonyms are permissible in

binomial nomenclature.

Question not attempted

3)

4
(®)

Taxonomic hierarchy refers to

(1) Step-wise arrangement of all
categories for classification of
plants and animals

A group of senior taxonomists
who decide the nomenclature
of plants and animals
Classification of a species
based on fossil record

A list of botanists or
zoologists who have worked
on taxonomy of a species or
group

(6) Question not attempted

@)

3)
(4)

. Species which have two or more

than two sub-species are called as
(1) Monotypic (2) Allopatric
(3) Sibling (4) Polytypic
(6) Question not attempted
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38

Feaffea da s TR gl €l 2 7
(1) wfem & Y wwewe R fw
@, T T 9 Gif¥a drew yfaes
% 3fie W girfia o s 2 |
Foit Th @1 SIS AHe R S
AT I AT & U |
gfeest 6t vg=™ & fore sugm fean
ST R |

U "uge # Sfifya urew 99
yfeest = eI ¥ g & forw
FheST AT ITaT 8 |

gty 3T # g & fere Shfem
qTeH! 1 EUE B2 |

(5) ITgaRa WA

& woft St wHE ST feeg fafte ot @
wEfRyd &, aiieha fpu 9 €, w9

(1) wad 2 "o

(3) wifad @ zad

(5) TgaRa W

I (A) : W F v S
Frffentor  fommy & fammopy S S
HHIE I TR 8 |

HRU (R) : fowmy 9 Ry i
g |

IR FUAT W RER w, g8 I &

T4 Fif |

@

(4)

(1) AR T RO SH §cF & 9 FR
TR 1 Tt T § |

(2) INFUT T FRT ST TF &, Sl
HTT SATH T T BT TE R |

(8) INFYTTE, FFgHFRT™a R |

(4) 3PPy 9 SR AT oA # |

FATANT I

|
|
(5) |

37

114.

115.

Which one of the following is not a
correct statement ?

(1) Herbarium is a storehouse
that contains dried, pressed
and preserved plant
specimens on sheets.

(2) Key is a taxonomic aid for
identification of specimens
based on similarities and
dissimilarities.

A museum has collection of
living plant and animal
specimens for study and
references.

3

4

Botanical garden has a
collection of living plants for
reference.

(6) Question not attempted

Two animals who belong to the
same kingdom but different classes
are categorised in the same

(1) Phylum (2) Order
(3) Species (4) Family
(5) Question not attempted
116. Assertion (A) In the five
kingdom classification of
Whittaker, there 1is no

mention of organisms like
viruses and viroids.
Reason (R) : The virus and viroids
are non-cellular organisms.
Consider the above statements and
select the correct answer.
(1) Assertion and Reason both
are true and Reason is the

correct explanation of
Assertion.

(2) Assertion and Reason both
are true, but Reason is not
the correct explanation of
Assertion.

(8) Assertion is true but Reason
is wrong.

(4) Assertion and Reason both
are wrong.

(6) Question not attempted
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119.
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The types of epithelial cells which
line the inner surface of bronchiole
and fallopian tubes

(1) Simple squamous epithelium
(2) Stratified epithelium

(3) Ciliated columnar epithelium
(4) Cubical epithelium

(5) Question not attempted

Which part of the coconut fruit is
fibrous ?

(1)
(2)
3)
(4)
(5

Which of the following statement is
incorrect ?

(1) Zygomorphic flower can be
divided into two equal halves
in any radial plane passing
through the center.

In cymose type of
inflorescence, the main axis
terminates in a flower, hence
is limited in growth.

In racemose type of
inflorescence, the main axis
continue to grow, the flowers
are borne laterally in an
acropetal order.

Fruit is a mature or ripened
ovary developed after
fertilization.

(5) Question not attempted

Tendons, which attach skeletal
muscle to bones and ligaments,
which attach one bone to another
bone are example of

Epicarp

Mesocarp

Endocarp

Endosperm

Question not attempted

@)

3

4)

(1) Dense irregular connective
tissue

(2) Areolar connective tissue

(3) Dense regular connective
tissue

(4) Adipose tissue

®)

Question not attempted
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121. Match the terms giveh in Column-I
with their features in Column-II
and choose the correct option :

Column-I Column-II
(Terms) (Features)

A. Sclereids Main water
conductive cells
of the
pteridophytes
and
gymnosperms

Long
cylindrical tube
like structures
devoid of
protoplasm and
are
characteristic
feature of
higher plants.
Reduced form of
sclerenchyma
cells with highly -
thickened
lignified cellular
walls that forms
small bundle of
persistent layers
of tissue in most
plants.

Thick walled
elongated,
pointed cells
occurring in
groups.

Cells are living
and have thin
cellulosic cell
wall, store food
in the form of
starch or fat.

I

B. Tracheids 1II.

C. Xylem I11.

Parenchyma

D. Vessels IV.

E. Fibres V.

Codes:

ARl TE Dl
(1) =k =11 T Vs W
(04551 1 ESee. V08 | 5 0. VA |
@il 1=V HE eIV
@V IV it
(5) Question not attempted
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122.

123.

124.

Which of the following has the
‘ring’ arrangement of vascular
bundles ?

(1) Monocot root

(2) Monocot stem

(3) Dicot root

(4) Dicot stem

(6) Question not attempted

Read the following statements and
answer the question given below :
I. Phloem parenchyma is
generally absent and water
containing cavities are
present within the wvascular
bundles.

Vascular bundles are closed
and conjoint.

It has Sclerenchymatous
hypodermis, a large number
of scattered vascular bundles
and a large parenchymatous
ground tissue.

Peripheral vascular bundles
are generally smaller than
centrally located ones.

Which plant anatomy is being
described by the above statements ?
(1) Monocotyledonous stem

(2) Monocotyledonous root

(3) Dicotyledonous root

(4) Dicotyledonous stem

(5) Question not attempted

Which of the following statement/s

is/are correct about dorsiventral

leaf ?

I.  Mesophyll is not
differentiated into palisade
and spongy parenchyma.

II.
II.

IV.

II. Mesophyll possesses
chloroplast and carry out
photosynthesis and is made
up of parenchyma

ITI. The adaxial (upper surface)
bears more stomata than
abaxial (lower surface)
epidermis.

(1) BothI&II (2) OnlylII

(3) BothI&III (4) I,II&III

(5) Question not attempted

38



125, STsAicdsi & T 8 B § | @9 /4

126.

127,

38

T A R/E ?

I 9% Yh™I-8veyy & fore ster smgfd
TR |

II. 3% Nl 3§ 9w g qiEsT & foe
ITSAIcESH Re=E fe war @ |

II1. ¥ frdh @ wfe = 7Y & aft v
T UEET 2 |

IV. 9% o=t &) @ag & +=f-=eft 10 &
15 fafiar e ez |

V. 9% ImE & ohifd = s R
wWarg |

(1) e III

(2) Faa Il

@) LILIIwWV

(4) LILILIVw@V

(5) geRE

e =% % ded d w1 § 2R wel &

we-I1 % @ T3 7 & fem hifSrg qen

= A T Fie A 9E S H g3 Fifvw ;
-1 -1
(FRR) (3)

A. %A i wEe

B. a-hereidte ii. ier™e CoA

C. gwfe iii. ATeAeTERe

D. " e iv. geiEEe CoA

HE:
AR 0 D

()i v 1.

@ Wi i

@ i i 6y

() G bl iy

(5) 3Irgmid

ufeifires s fore o @ fres faalla =

war g (e ?) 2

(1) T

(2) suUEAH

(3) wEEwEMA

(4) 3FSI-3-uEifesws s

(5) IAITRA A
]

41

125. Which of the following statement/s

126.

- IV.

regarding transpiration is/are

correct ?

I. It supplies water for
photosynthesis.

II. . It creates transpiration pull
for absorption and

translocation in plants.

It transports minerals from
the soil to all parts of plant.

It heats leaf surface,
sometimes 10-15 degree.

It maintains cells turgidity.
Only III

Only II

LILIII&V
LILIII,IV&V

Question not attempted

I1I.

V.
(1)
2
3)
(4)
)

Match Column-I with Column-II in
reference to Krebs cycle and choose
the correct answer from the code
given below :

Column-I Column-II
(Substrate) (Product)

A. Pyruvate i. Fumarate

B. o-ketoglutarate ii. Acetyl CoA

C. Succinate iii. Oxaloacetate

D. Malate iv. Succinyl CoA
Codes :
A =B G )
(1) .-l i
@y e 8 3
@)=iif 1 4 v
@i i 1 iv
(5) . Question not attempted
127. Abscisic Acid (ABA) acts as
antagonist to which of the
following ?
(1) Gibberellic acid
(2) Ethylene
(8) Cytokinin
(4) Indole-3-acetic acid
(5) Question not attempted
o
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128.

129.

130.

[y
(VL)
fuiry

Which of the following bacteria is
correctly matched with their role ?

A. Azotobacter — Anaerobic
nitrogen fixer
B. Nostoc — Freeliving

nitrogen fixer
C. Nitrosomonas — Convert nitrite
to nitrate
— Denitrification
(2) BandC
(3 BandD (40 CandD
(5) Question not attempted

Diffusion Pressure Deficit (D.P.D.) is
(1) inversely proportional to
suction pressure
(2) directly proportional to wall
pressure
(3) synonymous to suction pressure
(4) synonymous to osmotic pressure
(5) Question not attempted
Statement — I : Juxta Glomerular
Apparatus (JGA) is a
sensitive region formed by
cellular modification in the
proximal convoluted tubule
and afferent arteriole at the
location of their contact.
Statement II A fall in
Glomerular Filteration Rate
(GFR) activates the Juxta-
Glomerular cells (JG cells) to
release renin.
Both statements are correct.
Statement — I is correct, but
Statement — II is incorrect.
Statement — I is incorrect, but
Statement — II is correct.
Both statements
incorrect.
Question not attempted

D. Thiobacillus
(1) Aand B

(1)
(2)

3
(4)
®)

are

. Which of the following pair of

elements are responsible for
splitting of H,O and evolution of

oxygen in photosynthesis ?
Manganese and Magnesium
Magnesium and Chloride
Manganese and Molybdenum
Manganese and Chloride

(5) Question not attempted
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132.

133.

134.

Assertion (A) : After formation of
hormone-receptor  complex,
biochemical changes in the
target tissue occurs.

Reason (R) : Hormone produce
their effect upon target tissue
only by binding to specific

protein called hormone
receptor located in the target
tissue.

(1) (A) and (R) both are correct
and (R) is the correct
explanation of (A).

(2) (A) and (R) both are correct,
but (R) 1is not correct
explanation of (A).

3) (A) is correct, but (R) is
incorrect.

(4) (A) is incorrect, but (R) is
correct.

(5) Question not attempted

Which of the following sets of

conditions promotes the

dissociation of oxyhaemoglobin ?
(1) Low pO,, low pCO, & low H*

(2) Low pO,, high pCO, & high H*
(3) High pO,, high pCO, & low H*
(4) High pO,, low pCO, & low H*

(5)

Statement — I : Myelinated Nerve
fibres are found in spinal and
cranial nerves.

Statement - II : Unmyelinated
Nerve fibres are found in
autonomic and somatic neural

Question not attempted

system.

(1) Both statements are correct.

(2) Statement — I is correct,
Statement — II is incorrect.

(3) Statement — I is incorrect,
Statement — II is correct.

(4) Both statements are
incorrect.

(5) Question not attempted
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135.

136.

137.

Match the Column-I with Column-II
and select the correct answer by
using the codes given below :

Column-I Column-II
(Joints) (Bones Involved)
A. Balland i. Carpal and
Socket metacarpal of thumb
B. Hinge ii. Atlas and axis
C. Pivot iii. Humerus and
pectoral girdle
D. Saddle iv. Femur and tibia
A BCr D
@ e i
() M. iy o4 oA
@) a1 1oy
(AY = B PR e R e
(5) Question not attempted
Match the Disorders given in
Column-I and their Causes/

Symptoms given in Column-II and
select the correct answer by using
the code given below :

Column-I Column-II
(Disorder) (Cause/Symptom)
A. Myasthaniai. Hypo secretion of
gravis thyroid hormone
B. Gout ii. Hypo secretion of
paratharmone
C. Tetany iii. Auto-immune
disease
D. Cretinism iv. Accumulation of
uric acid in joints
A B B
(1) -da- oy e
(2)- 1y il i
@)iim oAy o Tasam
(4)- 4 i 1w on)
(5) Question not attempted

Which ™ of the following -correctly

explains an event in cardiac cycle in a

standard electrocardiogram (ECG) ?

(1) QRS complex indicates
depolarization of ventricles.

(2) QRS complex indicates
depolarization of atria.

(3) P-wave represents
repolarization of atria.

(4) P-wave indicates beginning of

ventricular contraction.

(6) Question not attempted
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138. If linkage was known at the time of

139.

140.

141.

Mendel, then which of the
following laws he would not have
been able to explain ?

(1) Law of Dominance

(2) Law of Segregation

(3) Law of Purity of gametes

(4) Law of Independent assortment
(5) Question not attempted

Statement-I : Stabilization through
natural selection occurs when
more individuals acquire
value other than the mean
character value.

Statement-II : In disruption more

individuals acquire peripheral

characters value at both ends
of distribution curve.

Both statements are correct.

Statement — I is correct and

Statement — II is incorrect.

Statement — I is incorrect and

Statement — II is correct.

Both statements are incorrect.

Question not attempted

(1)
)

3)

4
®

According to Darwin, diversity in
Australian Marsupials is an
example of

(1) Convergent evolution

(2) Adaptive radiation

(3) Parallel evolution

(4) Co-evolution

(5) Question not attempted

Which of the following statements

are incorrect ?

A. ABO blood groups
controlled by the gene I.

B. Gene I has 3 alleles, I#, 1B

are

and 1.

C. T2 and IB produce same type
of sugar.

D. IA and IB are incompletely
dominant.

1) AB @ B,C

3 AD @4 CD

(56) ° Question not attempted
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144. A

How would you test a pea plant
whether it is a ‘pure’ or ‘hybrid’ for
tallness ?

(1) Cross the pea plant with any
pea plant.

(2) Cross the pea plant with a
homozygous dwarf pea plant.

(8) Cross the pea plant with a
pure tall pea plant.

(4) Cross the pea plant with
another tall pea plant of
unknown genotype.

(5) Question not attempted

. If a colour-blind man marries a

woman who is homozygous for
normal vision. Then the percentage
of their offspring/children to be
colour-blind is

(1) 0% (2) 25%

(3) 50% (4) 100%

(6) Question not attempted

raw cotton fibre primarily
consists of

(1) Cellulose

(2) Starch

(3) Lignin

(4) Pectin and wax

(56) Question not attempted

145. Assertion : Homology is based on

divergent evolution.

Reason : Eye of octopus and of
human are the example of
homologous organs.

(1) Both Assertion and Reason
are correct and Reason is the
correct explanation of
Assertion.

(2) Both Assertion and Reason
are correct, but Reason is not
the correct explanatlon of
Assertion.

(3) Assertion 1is correct, but
Reason is incorrect.

(4) Both Assertion and Reason
are incorrect.

(56) Question not attempted
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146.

147.

148.

149.

150

Select the correct statement :

(1) The seeds of Poaceae are used
as cereal grains.

(2) Papaver seeds are used as
contaminant of groundnut oil.

(8) The fibres of cotton are the
outgrowth of bast cells.

(49) Commiphora is an endangered
plant of Rajasthan.

(6) Question not attempted

TI_Ille enetic material of AIDS virus
is
El Single stranded RNA
%2 Double stranded RNA
3) Single stranded DNA
543 Double stranded DNA
5) Question not attempted

Statement — I : ELISA is a widely
used diagnostic test for AIDS.

Statement — II : Cancer cell shows

ro;;lerty of contact inhibition.

flg th statements are correct.

2) Statement — I is correct and
Statement — II is incorrect.

(3) Statement — I is incorrect and
Statement — II is correct.

£4g Both statements are incorrect.

5) Question not attempted

Which one of the following option
gives the correct match of a disease
with its causative organism and
mode of infection ?
Disease Causative Mode of
organism infection
(1) Malaria Plasmodium Bite of
vivax male culex
mosquito
(2) Elephantiasis Wuchereria Contamina-
bancrofti ted water
and food
(3) Pneumonia Streptococcus Droplet
pneumoniae infection
(4) Typhoid Salmonella With
typhi Inspired air
(5) Question not attempted

0. Which of the following classes of
Antibodies/Immunoglobulins  are
produced in allergic reactions ?

(1) Immunoglobulin A

(2) Immunoglobulin G

(8) Immunoglobulin E

(4) Immunoglobulin M

(6) Question not attempted
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